A

Series

Roll No. (in Figures) T 7. (371 ) :
Roll No. (in Words) Iet F. (311 H) :

JE Electrical 849 Post Code

QUESTION BOOKLET
T¥-gRehT

Sr. No.

g ; 2 "

Time : 2 Hours

B TRAT

Screening Test

AfLTHaH HF : 85
Maximum Marks : 85

PLEASE READ THIS PAGE CAREFULLY.
Note :
open this Booklet ONLY after announcement by
centre superintendent and should thereafter check and
ensure that this Booklet contains all the 24 pages and
tally with the same Code No. given at top of first page
& the bottom of each & every page. If you find any
defect, variation, torn or unprinted page, please have it
replaced at once before you start answering.
IMPORTANT INSTRUCTIONS :

1.

Candidate should remove the sticker seal and

The Answer sheet of a candidate who does not
write his Roll No., or writes an incorrect Roll No.
on the title page of the Booklet and in the space
provided on the Answer sheet will neither be
evaluated nor his result declared.

The paper contains 170 questions.

. Attempt all questions as there will be no Negative

Marking,
The questions are of objective type. Here is an
example. Question : 8 Taj Mahal was built by
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan
The correct answer of this question is Shah Jahan.
You will therefore darken the circle with ink pen
below column (D) as shown below :

A B C D
Q.8

ONNORNON |

Each question has only one correct answer. If you
give more than one answer, it will be considered
wrong and it will not be evaluated. Changing,
cutting, overwriting and erasing of an answer
will be treated as wrong answer.

The space for rough work wherever provided may
be utilized by the candidate. You are not to use any
portion of the Answer Sheet for rough work.

Do not mutilate this booklet in any manner. Serious
damage/mutilation may entail disqualification.

Do not leave your seat until the Answer Sheets have
been collected at the close of the examination.

Candidate will not leave the examination room till
stipulated time is over and only after he has
handed over the Answer Sheet to the staff on

FUAT 3H IS I ATIEE ¢ |

AN : YT FeleT s FeTeTeh FRT SH0T T & RRT Trel
72T T T YFETehT i Tiet 1Y S oY o 3R GiAree e of
T T 24 U & 31X 9edt gt o =1 &3 T2 g TR et
TS R T S 53 T8 e TR G (e o | Afg g Jewd
T I A | TEe O 34 S/ o |

qﬁ'ﬂﬁﬁé‘ﬂ:

1.

S

. T qREH H 170 9T E |

. U9 3RV Weh ¢ | 3TN F AR W

. U UY o sherel Ush el ST & | I 3710 Ush 9 3feen

. Tohdt ot T @ gfedent & @ 7 A | TRIR T F 7w/

. TS 6 ek URIETT &feT el DI A7 Je< Tal ST STef

ST TR ST ReTehT o T Ut Ue S et § et
T TR STOAT A A, Fé Fedmm a1 Te1 feremm SHen! 3o
QReTshT B F T ST Bt ST 311X 7 &t SehT UietT g
T fefam ST |

HHY U9 & Y HiTeh ThRIcHD 3eh Tel 81T |

UT ; 8 ST HE el ST (HT0T J T T |

(A) TRME (B) ST

(C) 3The (D) YTESTeT

TH U 1 TEl ST & UESTeT | SHTerd 37T 3T YReshl &
I (D)  =Te UT 8 o AH {33 T Wrett I i &t

et O O R ST, S R A g T Y |
A B C D
Q8 O O O @

ST I, T g TToTd GHET ST ST SEehT Jodish =Tl
fopar s |

(F&eH, T, TERT foae a1 fem 9 S &t o
AT SART)

STRT el STTE X T 81 3 & T R o Tl W Y |
MU 3T IRARN & Tl off 91T 1 T % & ot
SYANT T&T AT E |

TS YRR 3 ShROT 3ATTehT 3T ST fohal ST e € |
3T I i T Toh T BT T b ST Hl TR
AT B T 3T Tel Y fordl S |

T Toh IXIeT THF AT &l & ST SR 98 701 3TR-
QReTshT TRIET | ST %2 % e § el |

duty.

Code No. : C_7()8 /2021/Series-A



JE Electrical 849 Post Code

Space For Rough Work / Fedl B F [T ==

Code No. : C-708/2021/Series-A 2



QUESTION BOOKLET

This question paper contains 170 questions. / 38 J%7 9 H170 T 8 |
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One question carries half mark only. / T T4 o ToTu Shaet amen 376 2 |

Maximum Marks : 85 AfIHaT 37 : 85
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1.  The resistance of a wire is R ohms. It is stretched to double its length, the

new resistance of the wire in ohms is

fopell R 1 fcRIg R 31180 8 | 39 91 TS o QAT deh Wi T, 38 d1 6
e 3 =2 e 3

(A) R2 (B) 2R (C) 4R (D) R4 &4
A 10 m long wire of resistance 20 ohms is connected in series with a battery

of e.m.f. 3V (negligible internal resistance) and a resistance of 10 ohms. The
potential gradient along the wire in volt per metre is

20 Q ufeie s 10 Hiet 16 d1 =l 3V e.m.f. (V& it Sfeer) T 10 Q'
Tfeier arelt sedl o G1 o T SieT TR § | 9R & JHER 9id Hiet, fave oo
EICA K

(A) 0.02 (B) 0.1 (C) 0.2 (D) 1.2

A 200 W and 100 W bulb both meant for operation at 220 V are connected

in series. When connected to a 220 V supply, the power consumed by them
will be

220 V W S=TeH o fIT gfra 200 W 1 T dem 100 W o6 g8 siesl sl 2oft H
ST T 8 | 96 I8 200 V b1 T W IS & a9 $7h gl STTh I1th o

(A) 33W (B) 100 W (C) 66 W (D) 300 W

Three 2 ohms resistances are connected to form a triangle, the resistance
between any two corners is

2 Q% o Sfalg 1 T BIhIvT ST §C ST T &, Tl @l hIvl o s |
RIRNCES

(A) 6Q (B) 20 (C) 3/4Q (D) 4/3Q

Two heater wires of equal length are first connected in series and then in
parallel. The ratio of heat produced in the two cases will be

AN T o &led i Sl Uge Avit H SR R gt § S TR | @
FTTEATST T I HEAT T ITIATA BITI -

(A) 2:1 B) 1:2 (C) 4:1 (D) 1:4

How much electrical energy in kWh is consumed in operating ten 50 W
bulbs for 10 hrs in a day in a month of 30 days ?

4 e o W& W 50 W s GH Sed ol Nidfed 10 8¢ aRETad i | fehal ded
ol (kWh H) 3U3erd Bt 2
(A) 500 (B) 15000 (€) 150 (D) 15
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10.

11.

12.

13.

14.

The force between the plates of a parallel plates capacitor of capacitance C
and distance of separation of plates d with a potential difference V between
the plates is

oTir C, qfgaht gt d 3R dfgertatl o s ol Tawalat V aTel HHTa iegshl Semi
H Ui s ST HTd 3

(A) CVZ/2d (B) C2V2%2d? (C) C?VZ/d? (D) VZ2d/c

AT/m is the unit of

(A) mm.f. (B) reluctance

(C) magnetising force (D) magnetic flux density

AT/m Wﬁ 2

(A) TH.UH.TS. &I (B) wfcerw <ht

(C) oo &1 shi (D) Teeh™ JTHATE T hi

Magnetic flux passes more readily through

(A) air (B) wood %C) vacuum (D) iron
SYlgl Hasidl @ NSEASS I

(A) I H (B) #EH (C) Fefaw (D) &g d

The unit of pole strength is

¢ ITee 6l THTE &

(A) A/m? (B) Am (C) Am? (D) wb/m?
M.M.F. in a magnetic circuit corresponds to of an electric circuit.
(A) voltage drop (B) potential difference

(C) electric intensity (D) em.f.

e RSB R R LR R CR TR  ITEI R |
(A) deearud  (B) fawem® (C) Fgddar (D) 3.U0.TS.

The B-H curve of will not be straight line.

(A) air (B) copper (C) wood (D) soft iron
%1 B-H @ dieht @1 |

(A) (B) (©) 18 (D) g et

A current of 2A through a coil sets up flux linkages of 4 wb-turn. The
inductance of the coil is

forell et § TSRl 2A 1 9T 4 wh-turn 3h! FAwd TR ST L 2 |
39 $Ecil ol Wehed &

(A) 8H (B) 0.5H (C) 2H (D) 1H

The specific gravity of electrolyte in a lead acid cell increases, the internal
resistance of the ceﬁ

A) remains unchanged B) is increased
C) _1s decreased D) none of these

STe oIg A Tet o Toed - 3T0ee o1 TAfSTs ocal sigdl & a9 Tt ol ST Tl
(A) IfEfid warg | (B) WedT® |
(C) =z | (D) 37H € IS &l
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15.

16.

17.

18.

19.

20.

21.

22,

The form factor of a wave 1s 1.

(A) sinusoidal (B) square (C) triangular (D) saw tooth
AT T Y 0T T 3 | ’
(A) STEshE (B) & (C) Fremift (D) Il

When a 15 V square wave is connected across a 50 V a.c. voltmeter, it will
read

(A) 15V (B) 15xV2V_ (C) 15A2V (D) none of these
S T 15 V & G 1 50 V a.c. SiceTdl & IR ST T § d9 dieeHTd! T

(A) 15V (B) 15x\2V (C) 152V (D) TH 4 =E T&l

In a LCR circuit, the voltage read at resonance across R, L & C are 40 V,
60 V and 60 V respectively then the applied voltage is

Tsh LCR 9R9Y ¥, R, L TUT C % IR 3TFATE W dlced! U84 Ful: 40 V, 60 V ae
60 V &, T8 STIIIa dleedl &

(A) 60V (B) 40V (C) 160V (D) 402+ 1202
The impedance of an a.c. circuit is 45 L-30° Q
(A) resistive (B) inductive  (C) capacitive (D) none of these

a.c. U9 <hl gfaemen & 45 L-30° Q .
(A) Ffatiee (B) Wfvrs (C) it (D) 34 & I Tl

The conductance and susceptance components of admittance are
(A) series elements (B) parallel elements

(C) series parallel elements (D) None of these
AT o ATeTehed AT STehadT €% o

(A) gofiqd (B) Wi d@  (C) S @i aw (D) 3H 8 s 8l
The resistance between any two terminals of a balanced delta connected
load 1s 12 Q. The resistance of each phase is

ferelt wqfcTa Seer BAIRa 9R < foheel o1 & & &9 1 9fag 12 Q8 | TR
el T ITEY 7

(A) 12Q (B) 18Q ) 6Q (D) 36Q

Three 50 Q resistors are connected in star across 400 V, 3-phase supply. If
one of the resistor 1s disconnected, then line current will be

50 Q @ T Sfatigent sl TR H 400 V, 3-Sall YA T ST W1 2 | I Th
Tfeieres sl 38Eg fohaT ST, A1 AT 9T B

(A) 8A (B) 4A (C) 16 A (D) 18 A

A dynamometer type instrument is chiefly used as a

(A) d.c.ammeter (B) d.c. voltmeter (C) wattmeter (D) none of these

o

foreht srfraTdt (SRMTIEY) TR o 31 ST T&Id: IUANT BT &
(A) .. et aR W (B) .. diceATt & TR W
(C) oAt o d T (D) 3T IS &

5 Code No. : C-708/2021/Series-A



23.

24.

25.

26.

27.

28.

29.

30.

31.

If the current through the operating coil of a moving iron instrument is
doubled, the operating force becomes
(A) two time (B) four time (C) one half time (D) three times

= T8 I ol ST HSell § U bl T ot G ST a1 T=eH 5
(A) I (B) =R (C) T (D) ferp
Hot wire instruments have scale.
(A) uniform (B) log (C) squared (D) none of these
T AR oA | Th BIAT 3§ | ’
(A) THEAH (B) @M (C) TR (D) 3T ¥ [ T8
The watt-hour meter is instrument.

(A) anintegrating (B) an indicating (C) arecording (D) a transfer
qre-weT uTdt DER .
(A) THEARAH (B) ThgEHh  (C) Toh @A (D) Teh TAM

A 100 W, 250 V bulb is put in series with a 40 W, 250 V bulb across 500 V
supply. The current drawn will be

T 100 W, 250 V S8 I 40 W, 250 V Ses & @1 3oft & 500 V 3Yfd % IR
@1 g | 9T it St

(A) 02286 A (B) 03 A (C) 04A (D) 0.5A
Norton’s equivalent is
A) Parallel ckt. B) series ckt.
C) series parallel ckt. D) None of these
¢ T GHh
(A) THFT<R qiger (B) it uftay
(C) 2vft-—TmmT=rR ufy (D) 8 O His T&l

A 12 V Lead Acid Battery used in a car contains
EA; 10 cells connected in series EB% 10 cells connected in parallel

6 cells connected in parallel D) 6 cells connected in series
;‘%?F 12 Vs

(A) ﬁg@loﬁa (B) HHMTR 3¢ 10 T

(C) THFR IS 6 T (D) 2oft # 38 6 4

What will be the magnetlc field of 4000 AT/m ?
4000 AT/m 31 FehIT & T BT 2
(A) 4000 AT (B) 16 AT (C) 4AT (D) 1000 AT

The self-induced emf in a 0.2 H coil when a current in it is changing at the
rate of 100 A/sec is

0.2 H $geit § 9« 910 100 A/sec I Td & et @ & a9 IUh] TN
3OS B

(A) 20V (B) 200V (C) 2x103V (D) 2x102V
The power factor at resonance in R-L-C series circuit is

(A) zero (B) unity (%) 0.5 lagging (D) 0.5 leading

R-L-C #oft qftay § 311 W 3fe Toreh
(A) I (B) Tk (C) 0.593=m (D) 0.5 3ATTH
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32.

33.

34.

3S.

36.

37.

38.

In a balanced three phase star connected system, the phase difference
between phase voltage and their respective line voltages are

T HAMAd T hell R AT JUTA H, FHell dieedl T k] Felf-2d ars
el o S 1 Helldl 3

(A) 30° (B) 120° (C) 60° (D) 45°

The number of parallel paths in the armature winding of four pole, wave
connected d.c. machine having 22 coil sides is

IR el T G SLH. weE, frEH 22 Feadt Yo 7, 36k ST HieeH §

FHMHTR 9 <l T &

(A) 4 B) 2 (C) 22 (D) 1

A 100 kVA, 1100/400 V, 50 Hz single phase transformer has 100 turns on

the secondary winding. The number of turns on its primary winding will be

T 100 kVA, 1100/400 V, 50 Hz T AT ZIEHIEL o Tgdiaeh Heer H 100 B

2 | 39 TTATHh Heoi T %I sl T gt

(A) 550 (B) 275 (C) 2750 (D) 5500

Maximum efficiency of a transformer occurs when

A) Hysteresis loss and eddy current loss are minimum

B) The sum of hysteresis loss and eddy current loss is equal to copper loss
in the winding

EC) Power factor of load is leadin

D) Hysteresis loss is egua} to eddgy current loss ggj
ERRTFN%; &1 rferean :

SHIIRITT IRl STt & S
(A) feeeffer gt o Fer-gm gl g e 8 |
(B) TeeeRiEm gii aem Her -4 &1 ol ARTHS HSH H ATH 11+ o SR 311 2 |
(C) W I SIfed UMk 31T &I & |
(D) fewefiferm aifa sfer-am =iy & s 7 |
A 440 V, 50 Hz three phase induction motor rotates at 1440 rpm on full
load. The motor i1s wound for
(A) 2 poles (B) 4 poles (C) 6 poles (D) 8 poles
Teh 440 V, 50 Hz < 3 Shefl SRt AT quf 9 W 1440 AR, T goH
2 | T8 Hiet U TE B

(A) 2ga%fae (B) 4gasfaw () cyasfam (D) syahfem
A 5HP, 3 phase, 400 V star connected squirrel cage induction motor meant
to drive a milling machine, at starting takes about

T SHP, 3 &all, 400 V &R &ifa fusil SRoft #iex St ueh ffer @sfiv 1

TS U ¥q 8, TRY | T AR |

(A) 40 A (B) 100 A (C) 150 A (D) 200 A
The torque power factor of an induction motor will be high when

A) running at no load EB) running at full load

C) rotor is blocked D) the rotor is crawling

HICX 31 AT T 70Tk I BT S

(A) 98 I YR T <erd! 2 | (B) o€ 0T WL W = & |
(C) YR AR | (D) TR TTATE |

7 Code No. : C-708/2021/Series-A



39.

40.

41.

42.

43.

44.

Synchronous motors are to be used in situations where
K) The load is constant

B) Load is required to be driven at very high speed
C) Load is to be driven at constant speed

D I\I\one of these

qeIehTforeh HIe sl Wt ferfa o J=ifSra fomem St g & 5ie
(A) YR 3R E |
(B) YR = 31fd 3= TTfd W IAT Bl § |
(C) YR = Fora nfd W Ban 2 |
(D) 3T & HIE &
Pitch factor for 5/6 short pitch coil is
5/6 T AU P! bl A 0T &
(A) 0.966 (B) 0.833 (©) 1.0 (D) 3.454
In alternators damper windings are used to
A) reduce eddy current loss
B) load is required to be driven at very high speed

C) make the rotor dynamically balanced
D) reduce armature reaction

< 31AHEH (STR) ST T ITANT fohaT ST 2 |
(A) WeR-9 g1 %A L &

(B) 5§ WR ! M I T T I BT & a9

(C) TeX =l 7o Hferd S B

(D) SATH=R Ufcfshan 0 & B

The direction of rotation of an ordinary shaded pole single phase induction motor
(A) can be reversed by reversing the supply terminal connections to the

stator winding
éB; can not be reversed

C) can be reversed by open circuiting the shading rings
D) can be reversed by short-circuiting the shading rings

Teh | BRI §d Toh—hell I Tl

(A) WX H8eH o ATYfd Rl & SISt T SHAUT Hleh Icohitrd fehaT ST Teha 7 |
(B) Icshitd &l ehl ST Fehlt |

(C) BRI Iotdi =l Gl IR T Ich it <hl ST Hehel 2 |

(D) BT et sl o7 IR X Icshitrd <hl ST Fehell & |

Selection of motor for any applications depends upon which factors ?

A) Mechanical characteristics gB) Electrical characteristics
C) Cost . (D) All of these
+f} ST o fTC At 1 =@ % | Feel W R Far g ?
(A) e JAMVEROI(B)  JEd A0 (C) AT (D) o

Candela is the unit of

A) Luminous Characteristics gB) Luminous Flux

C) Wavelength D) Frequency
SIS 8

(A) < rfrereror shi (B) <® woTed <6l

(C) aT-eed (D) SRS i

Code No. : C-708/2021/Series-A 8



45.

46.

47.

48.

49.

50.

S1.

52.

53.

Resistance welding can not be used for

(A) non-ferrous metals (B) ferrous metals
(C) steel (D) dielectric
g -ggM o fotu 3w 72 foharm ST Teh |

(A) Fcleurg (B) drEeg  (C) 3@ (D) &g

In the process of refining of metals, the impure metal is made as

(A) Cathode B) Anode (C) Electrolyte (D) None of these
T Shi TfTsahToT T, 3TI0g 9T < 1T R ST ST 2 |
(A) Hdrs (B) TS (C) fIega-3maet (D) 394 8 I8 Tl
Which of the following motor is used in household refrigerators ?
(A) AC Series motor (B) DC Shunt motor -
(C) Series . (D) None of these =
srefifesit o fr=ferid o @ i & et 1 SwEm fhn Srarg 2
(A) T, gofiaer(B) €LE. e Aey(C) Avf (D) T 9 s A&l
The type of d.c. motor used in electric traction is
(A) Shunt (B) Separately excited
C) Series (D) None of these
w0 bR o S EHY. TS T ST febal STTaT 2 | 0
(A) TE (B) g&ha Iferd (C)  2oft (D) 374 ¥ HI3 T
Chemical effect is utilised in meters.
(A) Ampere hour (B) Voltmeter (C) Ammeter (D) None of these
THR(eh T T Hiet H fopaT ST 2 | ’
(A) TUERREe  (B) dicenTd! (C) ufix (D) T 9 g A&l
The gravity controlled instrument must be used in Position.
(A) Horizontal (B) Vertical _ (C) Diagonally (D) None of these
Tecd fafa = =t feurfa o & ST SR =fe | ’
(A) &fqst (B) FEAmR (C) Terepuma: (D) T | g &
A dynamometer wattmeter cant’s read power.
(A) AC (B) DC (C) AC/DC (D) None of these
SRHHTE FTeATdT 1 U &l L Fehal | .
(A) TH. (B) i (C) wH./A . (D) 398 A HLE T
The resistance of earthling electrode should be
(A) high (B) low (C) medium (D) None of these
Y- Teh SAHIS T T el aﬁ%@ | ’
(A) 3= (B) = (C) weud (D) T8 H HIE A&
The most suitable material for piezoelectric transducer is
(A) Quartz (B) Mica (C) Copper (D) None of these
e - faga g aege % oI Ted 3uger , .
(A) (FH) (B)  ATH (C) ™ (D) 37H 9 I8 &l
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54.

5S.

56.

57.

58.

59.

60.

61.

Capacitive microphone converts sound into output.

(A) Electrical ~ (B) Chemical (C) Mechanical (D) None of these
YTICT HTSShIBIA &t <hl H R | .

(A) dgafrim  (B) THWe MHd(C) b fria (D) 76 A i T4l

The magnitude of force acting on a current carrying conductor placed in a
magnetic field is independent of

(A) flux density (B) length of conductor

(C) cross-sectional area of conductor(D) None of these

TEhIY &1 § W §U T U0 I8 hid =Toieh T RATSTE o1t o TIETor W&ad &
(A) A gca (B) <TcTeh <hi oaTg

(C) =Teteh % ITTILI-h1E & (D) TH § IS &l

The force experienced by a current carrying conductor lying parallel to a
magnetic field is

JFAh I &1 o FHHTR 1@ U U T84 hid dTeieh gRI STIHG [ohal 791 9 &

(A) zero/3I= (B) BIL (C) BILsin® (D) BIL cos20

Reluctance offered by the magnetic circuit depends upon
EA; nature of magnetic material EB% length of magnetic flux path

C) cross-sectional area of the material(D) all of these
e afaer gry aw wfaeey fsf st 2
(A) Taehra qrft i Thfd T (B) TeehId Fed 99 <hl ASTs T
(C) il 3 FTII-HIE & W (D) @&
A coil of 250 turns is connected to a 50 V d.c. supply. If the coil resistance
1s 10 Q, the mmf (magneto motive force) developed in AT would be

250 WY i FEeft Il 50 V SH. I W AT T 7 | S Heed Tfe’g 10 Q 7
Ta AT 4 forerféa geehi aT8eh §o1 (TH.UH.TH. ) BT

(A) 500 (B) 1250 (C) 2500 (D) 250

A magnetic ring has a mean circumference of 20 cm and a cross-section of

20 cm# and has 800 numbers of turns of wire. When the exciting current is
5A, the flux i1s 2 mWhb. The relative permeability of iron is nearly

Th ot <ht Tre qitier 20 AT, qUT JTEI-HE 20 T A.H. B IR AR
% Ul hI TEAT 800 7 | T8 I G SA T Fofod 2mWb 2 | ig <t 3Tmafares
TrSehIfTeTdT ST &

(A) 3.98 (B) 398 (C) 0.398 (D) 39.8

Energy stored by a coil is doubled when its current is increased by

(A) 100 percent (B) 41.4 percent (C) 50 percent (D) 35 percent

Th Sl G TR oh! 7T Holl QT 81 ST & o TR ST ST 2 |
(A) 1003fqw@  (B) 4l4dfasa  (C) 509faed (D) 35 wfaerd
Which one of the following is used as a passive component in electronic circuits ?

A) Resistor B) Transistor
C) Vacuum triode D) Tunnel diode

Wﬁﬁﬁu%ﬁadﬁﬁ&amlmﬂﬁmm%ﬁm@m%?
(A) Sfeiers (B) oIt (C) fafagrRie (D) UTSAIE
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62.

63.

64.

65.

66.

67.

68.

An example of solid-state device is a

gA) Thyratron

C) Field effect transistor
3T - 31T Jford T ISTET &

(A) U

(C) & JuTe ZIforeet

An 1deal voltage source is one which has . .
B) zero internal resistance
D) infinite internal resistance

C

ERs

A) very high internal resistance
ery low internal resistance

Q%;E‘gaﬁm'f@ﬁ

(A) 3fd 3= AT TFaUeT BT R |

(C) 3fa fa= 31t Tfaua gt & |

B) Pentode
D) Triode

(B) U<
(D) gHIS

(B) I 31Tdieh Ufaier g & |
(D) 3 AT Tfale B & |

When forward biased is apf)lied to a junction diode, it
A) increases the potential barrier
B) decreases the potential barrier
C) reduces the majority- current carrier current to zero
D) none of these
9 AfY SRS W ST ST SITd1 § O 98
(A) fova g sem@r # | =y
(B) fovwa wrefit seran 2 | &
(C) SEHETH-RETE R i I eh T & |
(D) T | I3 &
Compared to a CB amplifier, the CE amplifier has
A) lower input resistance B) highr output resistance
C) lower current amplification D) higher current amplification
E] g H H |
(A) Trear fa gl (B) 3= fria afaqie
(C) TR am yaea (D) =M IR JaLH
An amplifier circuit of voltage gain 100, gives 2 V output. The value of
input voltage will be
100 Fieedr ofed sl TeihRR afder 2V i <ar & | Frem Sieear 9 g
(A) 200V (B) 20 mV (C) 50V (D) 2mV
An amplifier of pass- band 450 kHz to 460 kHz will be named as
A) wide hand amplifier B) audio frequency amplifier
C) tuned voltage amplifier . (D) video amplifier
450 kHz § 460 kHz % UTd~s THefihRR am fem sme |
(A) dTEE &8 THITHRR (B) &4 A TATHRR
(C) Tmafd dieedl TelhrRR (D) difsa wrefiwrr
The voltage gain of an amplifier is 100 V. On applying negative feedback

with B = 0.03 its gain will reduce to

Teh TRGTHRR i dleedl dfed 100 V 8 | B = 0.03 3T H0McHeh JHHT T

M1 8 a9 Afed

qeh Teft

(A) 70

(B) 99.97

11

(C) 25

(D) 3
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69. For generating a 1kHz note, the most suitable circuit is
(A) Hartley Oscillator (B) Colpitts Oscillator
(C) Tuned Collector Oscillator (D) Wien Bridge Oscillator
1 kHz o1 T8 309~ i & Fai19eh 39 THIY 3
(A) BTee afes (B) HicIUe gifets
(C) TuEaia JuTel qiferst (D) & s gifert

70. The purpose of the SYNC control in a CRO is to
(A) Focus the spot on the screen
(B) Set the intensity of the spot on the screen
(C) Lock the display of signal
(D) Adjust the amplitude of the display
CRO H SYNC AT =l FaISH T TR |
(A) formg =l We T Hhiga (B) e W forg 3l cfteran fafvara
(C) Ta=et = yeet il U (D) eI o 3T T TS

71.  The binary equivalent of decimal number 0.0625 is
T T 0.0625 % qedt fg-3nard g 2 |
(A) 1001110001 (B) 0.1001110001
(C) 0.0110001110 (D) 0.0001

72. The binary equivalent of hexadecimal number AOBS is
I 3T T AOBS % et fg—3nemd T 8

(A) 0101110100001010 (B) 0101111101001010

(C) 1010000010110101 (D) 1011000011000101
73. The Parity of the binary number 11001110

(A) iseven (B) is not known

C) isodd (D) is same as the number of zeros

—~ 319 | 11001110 Y F&et

(A) THE | (B) T & |

(C) fawmg | (D) S g e s iy g |
74. Data can be changed from special code to tempral code by using

(A) Shift register (B) Counter

(C) Combinational Circuit (D) A/D Converters

o ST ZI0 S21 ! ferfTg e & et g H e foham S Hehefl 2 |

(A) BT (B) +RER (C) " Uiy (D) A/D uiEdeh
75. A monostable multivibrator circuit can be made using

(A) Logic gates (B) Op Amps _ (C) 555timer (D) Any of these
I h{ S[geh U= STIT ST Hehdl |

(A) A e (B) OpAmps (C) 5552 (D) 8% ot
76. Ina pP based system, the stack is always in

(P STTeTRE o T &b BHsm HEATg |

(A) uP (B) RAM (C) ROM (D) EPROM
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77.

78.

79.

80.

81.

82.

83.

84.

85.

The number of flags in 8085uP is

8085 P T T <t T 2|

(A) 2 B) 3 € 5 (D) 6

For a 12 bit A/D converter the range of input signal is 0 to +10 V. The
voltage corresponding to 1 LSB will %e

121%2?A/Dtrﬁaﬁaésﬁém%uaaﬁiﬁroﬁ+1o V& | 1LSB % 3T&d
e
(A) 0 (B) 0.0012V  (C) 0.0024V (D) 0.833V

The minimum number of pins required in an IC with two 4-input gates is

T IC ey 1 4-Faw Tie g 388 =mad 4 <l ST & |

(A) 12 (B) 14 (C) 16 (D) 18

Which of the following gates can not be used as an inverter ?

freferRaa & & S | 12 1 ITANT ST o AR W &1 feham ST Fehal 2

(A) NAND (B) AND (C) NOR (D) EX-NOR

If the iron core of transformer is replaced by an air core, then the hysteresis
losses in the transformer will

A) Increase B) Decrease
C) Remains unchanged D) Become Zero_

¢ IFABINE % AG—3hIS I 91 $hIS H TCAl Il & sl BT § T grii
(A) =t | (B) =t |
(C) srafafdd it | (D) S & SR |

Transformer core laminations are coated with an enamel layer in order to
A§ Reduce Hum

B) Attain adhesion between laminations

C) Insulate laminations from each others gg@
D) Prevent corrosion of the laminations -
STHRIE <h ShIS T 3 $HHA T H AT foRaT STTaT & aTfen .
(A) TSH (89) ¥ | (B) 9l % s fdehra g |
(C) Ui o Ueh-gr QAR RIS ek | (D) Tl ol HERUT ekl ST He |

The concentric windings are used in core type transformers with
winding placed next to core.

(A) L. B% Primary _ (C) H.V (D) Secondary
REIED Toheg ST I TebaT ST & 1 & ST

1 ohIg o fehe T@T T R |

(A) LV (B) wrufire (C) H.V. ) REGIRED

The winding used in a 3 phase shell type transformer is type.

(A) circular (B) cylindrical (C) sandwich (D) rectangular

3 el et TehR o ZIEWhIH A YR Sl HSeA! T ITANT BT 2 |

(A) = (B) SeM@hR  (C) Hefaw (D) 3TRATHR
In which transformer, the tertiary winding is used ?

(A) Star-Delta  (B) Delta-Delta (C%mStar-Star (D) Delta-Star
I GBI H 1o HSo ol STAN BT 8 7

(A) RRSeal  (B) sdlsedl  (C) RRA-RR (D) SeeI-RR
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86.

87.

88.

89.

90.

91.

92.

Two transformers operating in parallel will share the load depending upon there

A) Ratings B) Leakage Reactance
C) Efficiency . D) Per unit impedance
FHTTR ST & gFEhiHL 3T ITER W ST |
(A) JJHdATh (B) &%TUTSli%lala

(C) c&dn (D) Wi 318 wicramen

The ratio of Primary/Secondary voltage is 2 : 1. The saving in terms of
weight of copper required if an autotransformer is used instead of two
winding transformer will be

It/ Tgd e Aieedl A 2 : 1 8 | 9 Gl HSe S-HBHL o T T Al -
TTHAH I T IUANT TSR3 ST 9 STTE9IH dTH o o o Geyl I s=rd gnft

(A) 95% (B) 66.7% (C) 50% (D) 33%
In a DC motor the windage loss is proportional to
EA) Supply voltage . EB) Square of supply voltage
C) Square of Flux Density D) Square of armature speed
& ¥, Mer A 3 |
(A) ITq(d dreed (B) 3T Sieedl o1 R
(C) WeTeRE Tcd Sl ol (D) 3R i <67 o
What are slot wedges in a DC machine made of ?
(A) Mildsteel (B) Siliconsteel (C) Fibre (D) Castiron
ERIRENIEERCIEICK] éﬁﬁ@%%l
(A) 9g39d  (B) Tfisd s9amd (C) o (D) @edl dral
A 4 pole generator with 16 coils has a 2 layer lap winding. The pole pitche is
16%??[%?”?1@ 4-49 S T 2 T Sl Y F8o 7 | g 3T 8
(A) 32 (B) 16 (C) 8 (D) 4
The dummy coils in DC machines are useful to

A) increase the efficiency

B) improve the commutation

C) reduce the cost of the machine

D) maintain mechanical balance of armature

.4, T3 o 37eT hI =t ot ST B & ‘

(A) <&l sigH | ‘ (B) shw-Terfmra ger o ‘
(C) |3 &t &FTd Te | (D) 3ATH=R T AT T SH1C T
Inter poles in DC machine have a Tapering shape in order to

A) Reduce the overall weight

Bg Reduce the saturation in the interpoles

C) Economic on the material required for interpoles and their winding
D) Increase the acceleration of commutation

1.4, Iefi § 37T gl w1 YSTHR 3THR BT & aTih

(A) TUT I TR ST Hh |

(B) SR Yl § HJfd "eM % fog ‘

(C) AT g TAT 3ok S shl ATHIHT TN o @ HH TG ST Toh
(D) shu-farfamr=r o1 cawoT srgre S & |
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93.

9.

9s.

96.

97.

98.

99.

A 3 phase 4 pole Squirrel cage motor has 36 stator and 28 rotor slots, the no.
of phases in the rotor is

wsérvn, 4 99 o TIST A1 H 36 R qU1 28 YR @ & | Ve H FHearadi hl
AT

(A) 3 B) 9 <€) 7 (D) 8
The 3 phase induction motor with rotor circuit open will
(A) Run normally (B) Get overheated
(C) Not run (D) Make noise 2
Teh 1 el YXOM HIeX [&h! Ut aiae Gell 7, 98
(A) | = | (B) STG1 TRA Bl ST |
(C) & = | (D) 3TETS By |
The slip of'a 400 V, 3-phase, 4 pole, 50 Hz machine running at 1440 rpm is
400 V, 3%, 4 49, 50 Hz 31 ST 1440 rpm T = Tl 2 30eh! feard grft
(A) 6% B) 5% (©) 4% (D) 3%
Which of the following is used to measure temperature inside a boiler furnance ?
(A) Resistance thermometer (B) Bimetallic thermometer
(C) Optical pyrometer (D) Thermistor
IR HE! oh TG 1 AR HIUH 7q (HHTRId H & &hIH 91 ST 8l & ?
(A) wferry oM (B) Tgenfeares umfriier
(C) SehIfaTes Ymitfiex (D) ofiex
Which of the following transducer is used for transmitting as well as
receiving the acoustic energy in an ultrasonic flow meter ?
(A) LVD.T (B) RTD
(C) Piezoelectric crystal (D) Strain gauge
TS YATEHTdl H €k Sl o J9UT U ATE W fore fEfafad § ¥ B 9
STHSIE 3T ST BT & 2
(A) Ta. . ElL AL (B) AR, 4. Sl
(C) <E-fae frtea (D) ferspla wrdht
Which one of the following transducers is the most suitable for the
measurement of linear displacement ?
Q;;n auge gB) LVDT

C) Piezoelectric crystal D) Microphone

H ¥ I AT JASER 1Raeh ToeeiTo 7o o folt 9ed 3Ue & ?

(A) Torepfa ATt (B) .. €A,
(C) cE-fazE frtea (D) HTEHRIBMA
Which amplifier is used in an electronic multimeter ?
gA) Power amplifier EB) Buffer amplifier

C) Differential amplifier D) None of these

] = I hi § TRATHTRR <hT 39T BidT & 2

(A) Ifad TARTBRI (B) ST THATBRR
(C) fortet T (D) FH & g el
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100. Inductance is measured by which one of the following ?
(A) Wien bridge (B) Schering Bridge
C) Maxwell bridge (D) None of these
T ¥ ferdeht 39T Wehcd HTYA o foTU BT 8 2
(A) s B) Ffsid  (C) FFmEAsiE (D) 3 @ HIE T

101. Which signal will become zero when the feedback signal and reference

signal are equal ?

(A) Actuating signal (B) Reference signal

(C) Feedback signal (D) Input signal

STel QAT e SR e fomet Tk & a9 hid |1 Rt S &1 SR 2

(A) Yo e (B) few e () gl e (D) Faw fame
102. A transistor amplifier with 85% efficiency is likely to be

(A) Class A (B) Class B (C) Class C (D) Class AB

85% T&IAT T TS TWHATH I 6 HEEIR:EICEIRA

(A) TEA (B) ¥TE B (C) wEC (D) =& AB
103. Which class of amplifier has the lowest efficiency ?

(A) Class A (B) ClassAB  (C) Class B (D) Class C

HEH AT <h! Q&FAT IaH B & 2

(A) HTEH A (B) =9 AB (C) =@ B (D) 1@ C
104. The distortion factor is nearly

fereor 7UTeR AT E |

(A) 3% (B) 24% (C) 13% (D) 33%

105. Atriacisa
(A) 2 terminal switch (B) 2 terminal bilateral switch
(C) 3 terminal unilateral switch (D) 3 terminal bidirectional switch
FAREARS 2 |
(A) 2 e 6 feem (B) 2 <fiqer < fgmifedes feor

(C) 3 2fiaet < uepdfyaes feow (D) 3 zfder <t fgfesft feem

106. UJT when used for triggering an SCR has waveform
(A) Sine wave (B) Square wave
(C) Saw tooth wave (D) Trapezoidal wave
T © TR I TR St o ToTT 30T | ol 77T oidt o a0 o1 €9 8
(A) 1T (B) & T (C) JWEA ad (D) THers al
107. How many are used to construct a three phase cyclo converter ?
3 Sl GRIFAT el S o ToTT fehde =h1 9= IS ?
(A) 3 (B) 6 ©) 12 (D) 18
108. Which of the following is decimal equivalent of the binary 1111111 ?
frefofaa # @ i =t gt ge fg-snadi a@n 1111111 H qea g ?
(A) 67 (B) 87 (C) 127 (D) 167
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109.

110.

111.

112.

113.

114.

115.

116.

117.

Which of the following changes analog voltage to binary data ?

(A) A/D converter (B) D/A converter

(C) Both (D) None of these
frefcTiea & | & |1 T{EY dieedt i fg-3meamd ge1 | aiEfad i g 2
(A) A/D FH=dl (B) D/A %=t

(C) g (D) & & I3 e

How many flip-flops are needed for a 4 bit counter ?

(I%ZTWQ (B) Three (C) Four (D) Six

4 o2 SRk T o foTu fopaa foerq-waAra <1 TaarehdT & 2

(A) @& (B) (C) =R (D) ®:

The is ultraviolet light erasable and electrical programmable.
QT YR § T aret e ferga w2 |

(A) ROM (B) RAM (C) PROM (D) EPROM

Flag bits in arithmetic unit provide

(A) Status type information (B) A repeatability
(C) Facilities for rechecks (D) All of these

Teheh § AT forad T IS¢ A 2 | e
(A) feufa yer 6 g (B) <rgUH i eFmal C
(C) 9H: T hi glaen (D) Ig &t
What is the percent resolution of a 12 bit VCD D/A Converter ?
12 fore o SeiEl SY/a sheaet 1 farwed Wi foha & 2
(A) 0.0244% (B) 0.02442% (C) 0.1% (D) 0.1001%
Which of the following logic circuits are used for Mgh sReed digital grocessing ?

Fr=fcTRaa o @ o i o aRaeli 1 ST 3 TTideh TSfeel THTET 3 Bl @ ?
(A) TTL (B) ECL (C) MOS (D) CMOS
The resistor which holds the address of next instruction is called
(A) Program counter (B) Stack pointer
%3% §tack ] (D) Accumulator
(SRt | 3TCT 3T 1 UgH T@T T&dT & 98 hadlidl &
(A) TMHHRA  (B) WH U (C) & (D) THREEIR

Intel 8085 microprocessor, the address bus is 16 bit wide. The memory
which can be accessed by this address bus will be

(A) 64Kbytes (B) 2Kbytes (C) 8Kbytes éD) 12 K bytes
To01 8085 HTSHIT R & TeH 59 16 foe =S 2 | 38 Uod o9 & i 39 arft
(A) 64Ke3g® (B) 2Kaged (C) 8Ka®eH (D) 12K arsed

In a reverse biased PN junction, the current through the junction increases
abruptly at

(A) zero voltage (B) 1.2V

(C) 072V (D) Breakdown voltage

e g arEg Wt U SR H, SR ¥ 9RT 3TEHE 6 qeh ¢ T & |
(A) I@deeal (B) 1.2V (C) 0.2V (D) WSH dleedl
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118.

119.

120.

121.

122.

123.

124.

125.

126.

For signal diodes the PIV rating is usually in the range of

(A) 1Vto10V_(B) 10V 1030V (C) 30Vtol50V (D) 150V to400V
et Srigd o foru derdelt Wi amm=ra: T H B B |

(A) IVHEI0V (B) 10VE30V (C) 30VHI50V (D) 150 VI400V
Barrier potential for silicon diode is

fafoTeh riTe =t Uy fave 8

(A) 03V (B) 04V (C) 0.1V (D) 0.7V

Foe a Hartley oscillator frequency fis given by

(A) 127LC  (B) 2mLC (C) 12mVLC (D) None of these
o] elfeTsl shl SERAT f AT R |

(A) 12 7LC (B) 2mLC (C) 12nVLC (D) 8 O i3 &l
The Great Buddhist Council in 483 BC was held at

(A) Ujjain (B) Pataliputra (C) Rajagriha (D) Kashmir
483 4.9, 7 wren g Wl AR g o
(A) 3ISH (B) UrRfgA (C) TSR (D) R
The most famous Saka ruler was
(A) Menander (B) Gautamiputra Satakarni
(C) Kadphises II (D) Rudradaman I
eh e T A
(A) fiFmUst ) IRUGEIRERIGEI]
(C) heftpad 11 (D) ¥geHd I
Pallava Kings were the devotees of
(A) Mahavira (B) Buddha (C) Shiva (D) Vishnu

RSN ERUSIRSEINSES

(A) TEER (B) 5% (C) Ras (D) fawsh

Shivaji was crowned as an independent king at
(A) éurat (B) Raigar C) Poona (D) Singhagarh
LERSRERIEIC AR N IS hal TeRdT AT ?
(A) g (B) TG ©) (D) faEms
Which temple got the name of Black Pagoda ?
EA) Sun temple gB Lingaraja temple

D) Bhuvaneshwari temple

C) Jagannath temple
=2 3 He 1 e v AT e 2
A) w@ufr B) T ufr (€) =g af<t (D) yeevad ufx

Harijan Sevak Sangh was organized by

EA; Raja Rammohan Roy B) Dr. B.R. Ambedkar

C) Annie Besant ) D) Mahatma Gandhi
g - Haag R |

(A) TSI THAE T (B) . .31, 31dgH

(C) W sHe (D) TgreAT eh
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127. How many times can the President of India return a Non-money Bill, passed
by Parliament ?
(A) Once (B) Twice E&C) Thrice (D) Never
%%mmﬁﬁ&@ﬁt—gaﬁw YT o TFITd fohal IR Teamafad s
9

(A) ThER (B) TSR (C) @ aR (D) &I
128. Panchayati Raj is
(A) Administrative Structure (B) Financial Structure
©) Physi%al Structure (D) State Structure
a5
(A) TEfeh HT (B) fercita weem b
(C) witferes =T (D) T G

129. The ratio between length and breadth of Indian National Flag is
YR o TP &St Shl TaTs qAT ANSTE b s ol 31U 8

(A) 5:3 B) 3:2 ©) 2:1 (D) 1:1
130. The main watch dog of international trade is
(A) IMF (B) WTO (C) IFC (D) World Bank

SR <1 T T@aTel et 8 .
(A) IE.WIh. (B) T3 (C) IR.THH. (D) Towas®

131. Fiscal Policy is related to
A) government’s revenue and expenditure.
B) planning for economic developments.
C) regulation of the banking system.
D) money supply in the economy.

od
(A) TR TIE qo @9 (B) 3Tieieh fereprer = foru fefiem &

(C) sifer yurredt = faforma @ (D) feTaeen | &1 3MYfd &
132. Which planet is known as the Earth’s twin ?

(A) Venus (B) Mars (C) Uranus (D) Neptune
I H T ol Y2l 1 Sl oh TR LTI 161 8 2
(A) TF (B) wTet (C) ¥ (D) e

133. The hot and dry winds that help in the rigening of grapes in the Alps region is
(A) Chinook (B) Foehn  (C) Mistral (D) Roaring Forties
T TCT H FeAdt TRH Td Ik AU Si 3T 90 H Heg hid! &, 98

(A) T (B) (C) fregat (D) T =TetEn
134. Which ocean current is popularly known as ‘Warm Blanket of Europe’ ?
A) East Australian Current B) Brazil Current
C) Equatorial Current D) Gulf Stream
i Hl HETHITT €1 <h! HIHTIGET I 1 IS0 Hesel” § ST a1 2 2
(A) & AT AT 9m (B) SSia €T
(C) e ¥ (D) e Eim
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135.

136.

137.

138.

139.

140.

141.

142.

143.

Largest archipelago in the world is

A) Maldives (B) WestIndies (C) Japan (D) Indonesia
1 ey 9]

(A) HAEE (B) IR IES (C) IUH )RESEINE
The capital of Turkey is

(A) Ankara (B) Lisbon (C) Mahe (D) Tunis

EAR\ELIEIE

(A) IFHI (B) foresm (C) == (D) =™
Which Indian state is landlocked ?

A) Andhra Pradesh B) Bihar

C) West Bengal D) Kerala
I T WA T Tl -Fg 8 2 .

(A) Jggem  (B) feEw (C) ufeameme (D)

The largest producer of fresh water fish in India is

(A) Maharashtra (B) Tamil Nadu (C) Kerala (D) West Bengal
YL bl {‘Iq{':l dg] AU e H 3HTgeh )
(A) WERTY (B) dfieMg  (C) (D) iR=H ST
Gun powder was invented by

A) Alexander Flemming B) Albert Einstein

C) RogerBacon D) Alfred Nobel

d&q <hl 3‘|’||°|‘>°bl{ !°b€‘|"| ThdT 7

(A) TATIST FATHT (B) 3TeEe TS

(C) TSR dohd (D) 3Te%hs ide

The most abundant element on Earth is

(A) Silicon (B) _Nitrogen (C) Oxygen (D) Calcium
9l TR = S HIAT H U1 S STl a7 §

(A) Taferer (B) TggrSH (C) HladisH (D) HfcwH

In human body, Vitamin A is stored in the

(A) Liver (B) Skin (C) Lung (D) Kidney

HHE IR H foerfim- A &1 =

(A) FFd | (B) wd (C) wwsH (D) TH

First Chairman of H.P. Administrative Tribunal was

A) Justice T.V.R. Tatachari B) Justice H.S. Thakur

C; Justice V.K. Sharma ED) None of these
TICT T SR % TRt 3ede 9

(A) Jfeem & &3, aaEmd (B) WIcd TH.TH. 31T

(C) feew <., mf (D) T A IS &

First heritage city in H.P. is

A) Shimla_ B) Dharamshala (C) Mandi (D) Solan
T H A H

(A) fmen (B) &Il (C) wel (D) HieH
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144. Rainiest district of H.P. is

A) Kangra B) Shimla (C) Mandi (D) Chamba
fggmaaq%srw ¥k ST Tl
(A) HITST (B) famen (C) w (D) =&

145. Which district of H.P. has lowest percentage of Scheduled Tribe Population ?
A) Una g?%@Bilaspur (C) Hamirpur (D) Kullu
%maﬂm%ﬁ? T TG ST ST Thera 87

(A) S B) feamg  (C) FRE (D) Fe
146. Bherianga pass connects Kullu with which district ?
g%) ‘Mandi (B) Lahaul-Spiti (C) Kangra (D) Kinnaur
31 U oo I ordt et | e 2 2
(A) g (B) wEta-fifd (C) e (D) for=iR

147. Lacha mountain peak is located in which district of H.P. ?
(A) Chamba (B) Srimour ﬁéC% Shimla (D) Lahaul-Spiti

ST gaica R fedTaet e < fohd fRag?

(A) =waT (B) RmER (C) Teren (D) TEre-#ifd
148. Which is the remotest Himalayan Valley of the Himachal Pradesh ?

(A) Balh Valley (B) Doon Valley

(C) Kiarda-doon Valley (D) Spiti Valley -

i € ferTaret Ter ol g fewmerll wrdlt & 2 a

(A) STcg =t (B) &=

(C) foramer-ga =t (D) wifa ardt
149. Dudhon glacier is located in which district of H.P. ?

(A) Kullu (B) Chamba (C) Mandi (D) Lahaul-Spiti

guH fare fewraret wew o i & fiet 6 feurd 2 2

(A) T, (B) = (C) = (D) TEIA-Effd

150. Jubbal dominion was founded by
(A) Karan Chand (B) Ii}{am Singh (C) Mool Chand (D) Jai Chand

a-f\ - % - - -
(A) =TT =Q (B) THfEE (C) HeT=Ie (D) SE=e
151. Mahamorian fort is located at which place in H.P. ?

(A) Bhoran;j (B) Banjar C) Pooh (D) Nalagarh
. IENIREIER] Bl%:sr T forg ST g@m 29
(A) RS (B) sSR ©) T (D) ST
152. Which 1s known as ‘Ellora of Himachal’ ?
EA) Tabo monastery ' EB) Masroor rock cut temple
C) Mahamaya Balasundri temple (D) Hidimba temple

“TemTaret o1 TR TR a1 ST 8 2
(A) T3 0 (B) WHEL I shidd Af=T
(C) HEMrN STergel Afet (D) fefemn af=x
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153.

154.

155.

156.

157.

158.

159.

Bhuri Singh Museum was founded in which year ?

(A) 1904 AD (B) 1906 AD  (C) 1907 AD (D) 1908 AD
ftig dgrer <Y T ford o g8 oft 2

(A) B11904%. (B) &1906%. (C) T11907%. (D) &1 1908%.

Lord Mayo visited Shimla in which year ?

%;;1871AD (B) 1875 AD (C) 1883 AD (D) 1885 AD
ELRCICR DI RNE I RA TR

(A) &11871%. (B) 1411875‘§. (C) @11883%. (D) ©@11885%.

Chirgaon Majhgaon hydroelectric project is constructed on which river
basin of H.P. ?

A) Yamuna (B) Satlyj (C) Beas (D) Ravi
Ta TiTe STetfargd TS EHTEel Je¥ o hiF & ¢t S o o1 718 8 2

(A) FgT (B) €dacqst (C) =™ (D) TEft
Hamir festival in H.P. is celebrated in the month of
(A) September — October (B) January — February

C) March — April (D) May — June

:%maa Te1 U g AgR i U Tl § TR SIar R ?
(A) TaamR — e (B) el — ey
(C) | — 31 (D) WE§-d

‘KAPILA’ programme, which was in news recently, is associated with
which sector ?

(A) Automobile (B) Aviation

(C) Intellectual Property Rights (D) MSME

BT &1 ° g # @1 KAPILA (SiUel) UM s 3 S A qeEg 8 2

(A) FHETE (B) &

(C) difgeh qwiar AR (D) THUHTAS

Which Indian company has recently partnered with UNICEF to distribute
Vaccines around the world ?

(A) Biocon (B) Serum Institute of India
%;rw Bharat Biotech (D) Dr. Reddys
mﬁ%ﬁﬁﬂ (iepT) Torawon 74, %Wlfr i T wRT ot ¥ IfEw W any
(A) arreﬂﬁq (B) € 3fReeye 3T sfugan
(C) 9N ST (D) . &

Which country hosted the Indian Ocean Region (IOR) Defence Ministers’
conclave in February, 2021 ?
(A) SrilLanka (B) India (C) Bangladesh (D) Maldives

B, 2021 ® i § <31 4 fae wgm@rR &= (IOR) & "=t 6t fHaifaes @
1 AT i o 2

(A) Hfetent (B) ¥Rd (C) SIS (D) e
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160.

161.

162.

163.

164.

16S.

166.

167.

168.

169.

170.

In a certain code language ‘INHALE’ is written as FLKQEKZBKMDF.
How is ‘PARCEL’ written in that code ?

forell fafeerd e Wt § ‘INHALE® %1 FLKQEKZBKMDF foef@n Sl § | 39
%2 H ‘PARCEL’ ¥l @t ST 8 ?

(A) MSDXOUBDDKFM (B) MSXDUOBDDFKM

(C) MSXDOVBDDKFM (D) MSXDOUBDDFKM

Mohan walked 20 metres towards west, took a right turn and walked
30 metres. Again he took a right turn and walked 20 metres. Towards which
direction was he facing ?

(A) North (B) South (C) East (D) North — East
e ufeem 1 3T 20 et =, 97 grff ggw 30 et =T | T & =8 il
3R SRt 20 HIST =eTl | 98 A & feem o 2

(A) I (B) cfr © (D) IR

In a class of students, Ravi’s rank is 23" from top in Mathematics, whereas
his rank is 27" from below in Physics. How many students are there in the
class ?

ferenteat sh1 ek ehefl o iU H Tl T 560 ST H 2391 7, STaich ST 3hH Wifdeh—
e | A= | 27 af 8 | hell § oA foha foremeff § 2

(A) 40 (B) 48

(©) 50 (D) Data inadequate / STeT 39T
Antonym of ‘Strident’ is

(A) Stable (B) Pleasant (C) Musical (D) Melodious

One word substitution for ‘The custom of having more than one husband at
the same time’ is
(A) Polygamy (B) Polyandry (C) Debauchery (D) Bigamy

Do not hanker worldly pleasures.

(A) after (B) about (C) for (D) towards
Meaning of the idiom ‘To run amuck’ is

(A) To run a race (B) To run about in frenzy e
(C) To feel exhausted (D) To run to somebody’s help
I’ 1T B

(A) drdm=R (B) ufete™ (C) o (D) dgr
BT o ot Tl aTeA’ o fIT T IuFRh vee B

(A) UfEe (B) 3@ (C) 3@ (D) IUR
“qie WX e TEHT GETaR 61 Y §

(A) Tt (B) @@ ST (C) @ g 9T (D) 38T
A H 3T

(A) = (B) X ©) T (D) &
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